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[Participant ID

Participant Name

Test Center Name Maa Santoshi Computers Pvt. Ltd.
Test Date 25/01/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Fed i ™

O g B TEE T ANE &THaT g fafEes s #g @ 2
A 1 HEF-V (Agni V)

X 2 A" (BrahMos)

X 3. 3merer 1l (Aakash 1)

X 4 @ Aase (Naag Missile)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114832
94891119328
94891119325
94891119326
94891119327
Answered

1




Q.2 %y <k & gew F 25% Fr Oree e & @ o TRER # 5 swse F R g fr gy s
afgw, AIfF F=te Jaaa @2

Ans

2

X 335%
1

v 335%
1

< 3 33;}%

3
< 4 33;}%

Question ID : 9489113756
Option 11D : 94891115022
Option 2 ID : 94891115021
Option 31D : 94891115023
Option 4 1D : 94891115024
Status : Answered
Chosen Option: 1

Q3 v aw wya o AR Ft AR AN & & 0 anonst & @ Fie @ wuw A @R
T
“Nd TIFN F ke & ATaNed 3= @et 1 off g &1 =fzel”
GNUTE:

. e g #1 wEw wfEE 2 3
Il. e F1 9T TR T 37 ¥ 3¥ea7 gemar Fedr &

A o1 Faer aroT || RRT E
X2 qaranor | ik 7 & 1 Bf &
X 2 amor | 3R 1| @t AT F
X 4 haer uoT | AT F

Question ID : 9489114681
Option 11D : 94891118722
Option 2 ID : 94891118724
Option 31D : 94891118723
Option 4 ID : 94891118721
Status : Answered
Chosen Option : 1




e FT TIE A=

Ans XK1 LF
<2TJ
<3 VK
v 4 QD
Question ID : 9489114695
Option 11D : 94891118777
Option 2 ID : 94891118778
Option 31D : 94891118779
Option 4 ID : 94891118780
Status : Answered
Chosen Option : 4
Q.5 : s . s
AN ¥ PIA T o9 WA TEaeetes F Bud 87
Ans X 1. ZUA (The Urals)
X 2. R g4 AT (Caucasus peaks)
# 3 MRET (Pyrenees)
v ¢ ¥5cH (The Alps)
Question ID : 9489114826
Option 11D : 94891119301
Option 2 ID : 94891119303
Option 31D : 94891119304
Option 4 1D : 94891119302
Status : Answered
Chosen Option : 4
Q6 s x aTer AT PRl F AR IR ST x T T F SEGE F IS A HIAC
s X1.43:8
v 2434
<3431
<4432
Question ID : 9489113764
Option 11D : 94891115055
Option 2 ID : 94891115054
Option 31D : 94891115056
Option 4 1D : 94891115053
Status : Answered

Chosen Option :

1




Q.7 e gs-@Rar (Indian Penal code), 3 1860 # wfRfaafaw gf, & wwlar &ur ww= ot smar &
Hegerar fFae Fr ofr?

Ans X1 @& fATrYE (Lord Linlithgow)
X 2 &S & (Lord Curzon)
X 3 &S gIfEer (Lord Hardinge)
v & &g FFrer (Lord Macauly)

Question ID : 9489114817
Option 11D : 94891119268
Option 2 ID : 94891119265
Option 31D : 94891119267
Option 4 ID : 94891119266
Status : Answered
Chosen Option : 4
Q.8 With reference to the Rajya Sabha, which of the following statement is correct?
Ans 3 1. The term of Rajya Sabha is six years.
« 2. The Rajya Sabha is never dissolved.
#< 3. Tt is a directly elected bodv like Lok Sabha.
/< 4. Rajva Sabha is the lower house of parliament.
Question ID : 9489114827
Option 11D : 94891119307
Option 2 1D : 94891119308
Option 31D : 94891119306
Option 4 1D : 94891119305
Status : Answered
Chosen Option : 2
Q.9 fzw =1v fawredl § ¥ 3@ TEA W A Hfew, T aeET #ew & @y o wee & S gw A
whefr T F7 Feer: g 3 Sd e T #
15 : 1365 = 27 : 2817 - 43 : ?
Ans X' 1. 4123
< 2 3489
< 3 4893
v 4 4493
Question ID : 9489114678
Option 11D : 94891118712
Option 2 ID : 94891118711
Option 31D : 94891118710
Option 4 ID : 94891118709
Status : Not Answered
Chosen Option : --




Q10 77 3 T W P, F FHIRT 2 +2° = (b—x)’ F FIE AT A

Ans x b? + a?
1.
2b
y B
v
2b
a?— b?
Xs
2b
b? —a?
X 4
2a
Question ID : 9489113766
Option 11D : 94891115063
Option 2 1D : 94891115061
Option 31D : 94891115062
Option 4 1D : 94891115064
Status : Answered
Chosen Option : 4
1 516372 F 6 F TET TF HR HFE AR F IR AT DT
Ans X1 5998
< 2 5394
v 3 5994
< 4 6698
Question ID : 9489113746
Option 11D : 94891114982
Option 2 ID : 94891114984
Option 31D : 94891114981
Option 4 1D : 94891114983
Status : Answered
Chosen Option : 3
°-1zuﬁwa§gaarmmﬁ$m144°%,a?a§ﬂ:ﬁ T Bl ¥
Ans x 1. 8
v 210
<312
< 415
Question ID : 9489113768
Option 11D : 94891115069
Option 2 1D : 94891115070
Option 31D : 94891115071
Option 4 ID : 94891115072
Status : Not Answered

Chosen Option :




Q.13 15 gzw ar 25 AT v WS & wEA F 22 T F Fe FH §1 9 [ A 18 wiganat v 5@
Fea # fraw g7 R

Ans x 2
1. 15_

3

2
<2182
3

. 2
Vs 16-
3

2
X4 17=
3

Question ID : 9489113763
Option 11D : 94891115049
Option 2 ID : 94891115052
Option 31D : 94891115050
Option 4 ID : 94891115051
Status : Answered
Chosen Option : 3

a1 o sfest & mitas A sgos w7 AT

2.35 7.2.3.3 5 7389
Ans  f1 4, 3

X2 3 3

X3 3.4

X4 4, 4

Question ID : 9489113772
Option 11D : 94891115086
Option 2 ID : 94891115087
Option 31D : 94891115085
Option 4 ID : 94891115088
Status : Not Answered
Chosen Option : --




Q.15 37 37 3@ 7 T4 F{ o AR EE 90 F 99 F GIY F FafeaH o7 ¥ Hwhd Har 8

Ans

X 3.

v &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

9489114696

94891118783
94891118781
94891118784
94891118782

: Answered
14

Pt & ¥ P9 @ vHw After a9 gElE 32
X 1. TEEIF (Testosterone)
K 2 FFAAEFA (Nucleosome)

Ans

v 3 TEEisia (Estrogen)
X 4 FATEA (Chromatin)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114814
94891119254
94891119255
94891119253
94891119256
Answered

3




Q.17 facdr s (financial emergency) Heell TEUTHT T Soord ARAT @4 & Frafafea 7 @

Fa ¥ ygeeT A 2

MK 3160

X2 Hﬂﬁﬂ'—46i}
v e 3@?&2‘-360
X 4 H?IDWQGD

Question ID : 9489114839
Option 11D : 94891119356
Option 2 ID : 94891119354
Option 3 1D : 94891119355
Option 4 ID : 94891119353
Status : Answered
Chosen Option : 3
Q.18
IfE 1+ tanB = /3 &, aF V3 cot8 — 1 T AT AT =T
Ans
X1 24/3—-1
2
Ko Y2 - et
2
X 3 243+ 1
2
" Y341
2
Question ID : 9489113769
Option 11D : 94891115076
Option 2 ID : 94891115073
Option 31D : 94891115074
Option 4 ID : 94891115075
Status : Not Answered

Chosen Option :




01 9T WER IR F F T T A WA 3 ¥ A gET §7

X seadETs Afrenst & Ao etwar & e

A 2 FTE TEHRT F UHUH
v o eaEETs garst & forw st gfeor

X 4. HETEETH BT & o0 SIEgled Arsta

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114843
94891119372
94891119371
94891119370
94891119369
Answered

1

Q.20 “&55% A Terdsr wefeffead (Handbook on Fisheries Statistics) & 133 ®&awuT &

FTAR, SN F HaOH I9T FHA AcET 3eeeh Tsd Hied 1 g2

Ans x
-
< 2 ofdgw T
K3 Ty e
¢« TS
Question ID : 9489114825
Option 11D : 94891119298
Option 2 ID : 94891119299
Option 3 ID : 94891119300
Option 4 ID : 94891119297
Status : Answered
Chosen Option: 3
.21 Ak
22 PaETer A (Komagata Maru) =T T gefag o
Ans 5
X 1. Oforeds 9T ST g e
X 2. 3T FIS (Arab Spring)
X o T F T HEFAE g
v 9T T=99aT O
Question ID : 9489114820
Option 11D : 94891119280
Option 2 ID : 94891119277
Option 31D : 94891119279
Option 4 ID : 94891119278
Status : Answered
Chosen Option : 4




Q.22 e A T T T H 50 FITAR20% ARG AT RA T ITTEH T

AT g, afer 3H 20% T AT @l

Ans X1 2,300
v 2 2250
<3 2,200
< 4 2,150
Question ID : 9489113757
Option 11D : 94891115028
Option 2 ID : 94891115027
Option 31D : 94891115026
Option 4 ID : 94891115025
Status : Answered
Chosen Option : 2
23 . ¢ ¢
023 =oee UF U & War ¥ =95 ¥ FiT O O s adr 7
e X g
K2 T
< 3 giferas
SO
Question ID : 9489114811
Option 11D : 94891119242
Option 2 ID : 94891119241
Option 31D : 94891119244
Option 41D : 94891119243
Status : Answered
Chosen Option : 4
Q.24 & L F o
T ¥ i o wfAfe e # w gunt ¥ e 32
Ans * . :
X 1. H9e @=gr AT (Anand Sinha Committee)
X 2 = @A (Ghosh Committee)
v s e wehr BfafY (Raja Chelliah Committee)
X 4 A @ @f@Afa (Meera Seth Committee)
Question ID : 9489114842
Option 11D : 94891119366
Option 2 ID : 94891119365
Option 31D : 94891119368
Option 4 ID : 94891119367
Status : Answered
Chosen Option: 3




Q25 wWhich of the following reasons can be attributed to * Arctic Greening’?

Ans

x 1. Ocean current flow

« 2. Global warming
/< 3. Ozone layer depletion
/< 4. Rising pollution

Question ID : 9489114815
Option 11D : 94891119258
Option 2 1D : 94891119259
Option 31D : 94891119257
Option 41D : 94891119260
Status : Answered
Chosen Option : 2
Q.26 s =mFT A, B, C, D, E, F, G 3T H, TF 30d=R 85 ¥ 9R7 3% &% ge #| 33 § & 9 =f4q,
aﬁsré:maﬁa‘rwérﬁé:ﬁrqﬁ?rﬁg%vgc%, St W T A $ e iy =iEE e Faf @
&g #1 3T Hg F 95 §1 B e v w9 W 4T g1 A AR B & o 2 sufea §1 G e |e s
T A E F Ty A7 &y =iz a0 FR F T7 a1 &1 D, A F g5 3T F 5@ TE W d=T §1 C
ARFAFEHE HFEE I H AR C & @w & =@Rd 81 B + a6 31 ¥ g T W &l
= 2
Ans x 1. G
K2D
V3 F
Xa4C
Question ID : 9489114700
Option 11D : 94891118797
Option 2 1D : 94891118800
Option 31D : 94891118798
Option 41D : 94891118799
Status : Not Answered
Chosen Option : --
Q.27 ;
T T & gtoas &7 7 cgag el
1 (5 3 )
5 3 25
Ans x 1. 0
<22
<33
v
Question ID : 9489113748
Option 11D : 94891114992
Option 2 ID : 94891114990
Option 31D : 94891114989
Option 4 ID : 94891114991
Status : Answered
Chosen Option : 4




Q28 marenT e EERT AEe TR (Salt march) I F o T T e

Ans

v 11930
X 21928
X 3 1931
X 41929

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489114821

94891119283
94891119281
94891119284
94891119282

Status : Answered
Chosen Option : 1

Q.29 3y 24 =39 B T A 5 BT § W W T €, A 6 T 3 FF A o B\ F @ weEe

Ans

X122
v 2 20
X316
X418

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113761
94891115044
94891115043
94891115041
94891115042
Answered

2

Q.30 3y fawew # w3 HL, w9 owg F WY T Tew E, S @S qeg Fgw w4 F

Ans

= B 7 L FEE

v 1. T

X 2 confEes

X< s @
< 4 SgT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114674
94891118695
94891118693
94891118694
94891118696
Answered

1




¥ g Fr drgar
Ans X 1. X (Bar)
v 2 Reer & (Richter Scale)
X 3. TheEmd (Kilogram)
X 4 9TERe (Pascal)

A =rdr 7

Question ID : 9489114830
Option 11D : 94891119318
Option 21D : 94891119319
Option 3 ID : 94891119320
Option 4 ID : 94891119317
Status : Answered
Chosen Option : 2
32
932 & AraT (small pox) F & #7 EsFR Faa Bar o
Ans
v . usgg JX (Edward Jenner)
X 2 §% 9= (Louis Pasteur)
X 3. & @THE (D Rutherford)
X 4 JFg I3+ (James Chadwick)
Question ID : 9489114831
Option 11D : 94891119323
Option 2 ID : 94891119322
Option 31D : 94891119324
Option 4 ID : 94891119321
Status : Answered
Chosen Option: 1
Q33 papk rate is the interest rate at which:
Ans % 1. commercial banks lend money to the central bank
< 2 the Government borrows from the central bank
o 3. the central bank lends money to the commercial banks
/< 4. the central bank borrows from the government
Question ID : 9489114840
Option 11D : 94891119359
Option 2 ID : 94891119360
Option 31D : 94891119358
Option 4 ID : 94891119357
Status : Answered
Chosen Option : 3




Q.34 fah fagmrem & For R & W &, W T & R R # 5N ¥ wned AR Ay

et Hd T WX @1 AT | Taemmerm # Memn fr aea faer 2
ans K1 41

X2 44
X3 43
i 42
Question ID : 9489114677
Option 11D : 94891118705
Option 2 ID : 94891118708
Option 31D : 94891118707
Option 4 ID : 94891118706
Status : Answered
Chosen Option : 4
Q35 v ot & W1g @ T R 7w §) FAW & H @ Faan ¥ aF T & @G A T R
93:
FT aET e S\ F RBftew vor F doarst = onfEe SR s g
o
I g7, FEifn Ty & & fffen vor ¥ deae Rftes aftwnt = GEgw = #
II. =1gl, #@ifd gt A7 digarat & AT qHE FS 7
Ans : -
X a% | d#R % 1 gt Ioe §
Xeagdaraw | dIadas Il T gl
X o Fae @F Il T g
v o FFT TF | T
Question ID : 9489114682
Option 11D : 94891118727
Option 21D : 94891118728
Option 31D : 94891118726
Option 4 1D : 94891118725
Status : Answered
Chosen Option : 2




% ARer # gflE I SeA-aaaT e Fe # aRa a3 9

e feed Teaaa
<2 fafeer
Ksﬂa?ﬁﬁﬁ'
K o el

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114818
94891119270
94891119271
94891119272
94891119269
Answered

1

Q.37 == & forme 1867 & sia H Wi eulda 3@ Fr U= H A IHHT HOAr T A U5 Rt

T HTH STEIT (Poverty and Un-British Rule of India) # werifarg fasar am?

Ans X 1. ArdreTer Ag® (Motilal Nehru)
X 2 15 FAared (Lord Cornwallis)
v 5. grereg RS (Dadabhai Naoroji)
X 4 TT 3T FeaT (Sir Arthur Cotton)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114806
94891119224
94891119223
94891119221
94891119222
Answered

3




Q.38 2008 # SN WHN GEN T Aoy INEde g Tea Hrd== (NAPCC) & 3Heeid 339
¥ 5w e &1 g #1 g o

Ans x 1.
TsEI Y e (National Mission for Agriculture)
v
FerAe e B GETAT g fgAeaa gHifawer (National Mission for Sustaining the Himalayan

Ecosystem)
X 3 T g7g e (National Milk Mission)

X 4
FATT FEEAT HUF (National Sustainable Mission)

Question ID : 9489114834
Option 11D : 94891119335
Option 2 1D : 94891119334
Option 31D : 94891119336
Option 4 1D : 94891119333
Status : Answered
Chosen Option : 2

Q.39 R v Fuet 3k vt F coewEE w1 7F wE g B Fuet F & 0f Swed oo ¥ e & 9w
AT AT Tedl ¥ f@ea g1, sam & w av Greast # v wig § oy wuat w1 afFE s
ITele AT B/ B

FU:
1. 7% 37, 37§
2.3 371, T §
3. 3o ¥, FiEa = &
fors=:
1.35 3%, afeT 8
2. zo afFw, FiEa §)

e X1 o TSy 2 9TeT FEaT B
X 2 FIer TrseHy 1 UToT FLGT ¢
X 3 sy 1 3T ey 2 g 9o = 2
Vi ar sy 1 st 7 & TS 2 gree Far B

Question ID : 9489114680
Option 11D : 94891118718
Option 2 1D : 94891118717
Option 31D : 94891118719
Option 4 1D : 94891118720
Status : Answered
Chosen Option : 2




Q.40 s fREa e & #, C & 24 3K O & 12 UG S §1 5@ e 47 F COLONY & fFe 9&hR
R smeem?

Ans  of 1. 24121512132
X 2 24121312132
X 324121612132
X 4 24121412132

Question ID : 9489114676
Option 11D : 94891118702
Option 2 1D : 94891118704
Option 31D : 94891118703
Option 4 ID : 94891118701
Status : Answered
Chosen Option: 1

Q41 A genetically modified form of brinjal was developed. The objective was:
Ans 1. to make it pest resistant
/< 2. to improve its shelf-life
/< 3. to improve its taste

/< 4. to make it draught resistant

Question ID : 9489114833
Option 11D : 94891119330
Option 2 ID : 94891119329
Option 31D : 94891119332
Option 4 ID : 94891119331
Status : Answered
Chosen Option : 4

Q42 The face value of & in 7586309 is:
Ans J 1.8

< 2. 8000

< 3. 800

< 4 80

Question ID : 9489113744
Option 11D : 94891114976
Option 2 ID : 94891114973
Option 31D : 94891114974
Option 4 1D : 94891114975
Status : Answered
Chosen Option : 1




U 3o R B &7 F Rfice arem F fw vee B e 32

Ans
X< 1. mfEem
v g
<5 FARE
X 4 e
Question ID : 9489114807
Option 11D : 94891119225
Option 2 ID : 94891119226
Option 3 1D : 94891119227
Option 4 1D : 94891119228
Status : Answered
Chosen Option : 2
Q.44 cos(x—y) = ? ARsinx+y)=1% @ xRy vmemm sgg s iR x =y & arx 3wy
&l
Ans o o
5 1.70°20
< 2. 80°10°
W 3. 60°30°
2 4. 50°,40°
Question ID : 9489113771
Option 11D : 94891115083
Option 2 ID : 94891115084
Option 31D : 94891115081
Option 4 1D : 94891115082
Status : Answered
Chosen Option: 3
Q43 Cafafe 3 @ fer o1 & Sl 3 oty REct mER ¥ el 37 & B der
ar?
e X e fifE
v FT @E
X 3. FEIGT AE FH
K 4 HEST g
Question ID : 9489114819
Option 11D : 94891119274
Option 2 1D : 94891119273
Option 31D : 94891119276
Option 4 ID : 94891119275
Status : Answered

Chosen Option : 2




Q.46 f2v =1v et # W 38 @ET F TS Hiew, S GEafatEg St # v fREa (7) F w97 AT

T B

1, 5, 32,288, 7

Ans X 1. 2754
X 2 4329
v': 3413
X 4. 2879

Question ID

Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

Status

1 9489114686
94891118742

194891118741
194891118743
194891118744
: Not Answered
Chosen Option :

Q47 mraR AT e BEet § T FgEaE I fg (MSP) # iwon & 2

Ans X1 8
X2 34
Vs 22
<417

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114841
94891119361
94891119364
94891119363
94891119362
Answered

1

Q48 v Yeemer 90 km/h # = F T @ E1 TF 15 min F T e F gf 3w FE

Ans  of 1. 22500
X 2. 21500
X 3. 24500
X 4 23500

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113762
94891115046
94891115045
94891115048
94891115047
Answered

1




Y SARfRT #r g fifT)

B7h X875 - 1356254 775 XTI =7
Ans 1.3

v 1

X34

X2

Question ID : 9489113751
Option 11D : 94891115002
Option 2 ID : 94891115004
Option 31D : 94891115001
Option 4 1D : 94891115003
Status : Answered
Chosen Option : 2

0 S ARot #= afEseR e dfae dEw e T o
Ans X1 ¥ (Newton)

X 2 sfeed (Dalton)
v o i Hzelw (Dmitri Mendeleev)
X 4 HATT TETHE (Ernest Rutherford)

Question ID : 9489114813
Option 11D : 94891119251
Option 2 ID : 94891119249
Option 31D : 94891119250
Option 4 1D : 94891119252
Status : Answered
Chosen Option : 3




Q51 3= JdrT ST (Aurora Borealis) % a1 # $A7 ¥ Hie W FUST T 87

Ko
T F TGAST H ABEIST F ScAe & TRUTAERT gET SIS (Auroras) Se9e g 2

v
TE TLA F I F @S & A TF Gal Tplad FHA g

X o 50 T qHECIET &5 # @ S T g
X 4 38 ZTEOT ST F ®F F off F=T FaT

Question ID
Option 11D
Option 2 ID
Option 31D
Option 41D

Status

: 9489114823

1 94891119292
1 94891119290
1 94891119291
1 94891119289
: Answered
Chosen Option :

2

Q.52 o afeer w1 ofmw & gu, Wea F F, 9w A @y F A F & H AW S o e osw ke a7
HEe $T A& F T FAT Y 7

Ans

X1 89§

X2 ;r

Vo

X 4 mﬁméfﬁﬁr@mm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114679
94891118715
94891118713
94891118714
94891118716
Answered

3




Q.53 Which of the following represents the correct order of occurrence of the layers of the atmosphere, starting from the
surface of the earth?

Ans XL

Troposphere — Stratosphere - Ionosphere — Mesosphere - Exosphere

X 2

Troposphere - Mesosphere - Stratosphere - Ionosphere - Exosphere

s
Troposphere — Stratosphere - Mesosphere - Ionosphere - Exosphere
x4
Troposphere — Stratosphere - Exosphere - Ionosphere - Mesosphere
Question ID : 9489114824
Option 11D : 94891119295
Option 2 1D : 94891119294
Option 31D : 94891119293
Option 4 ID : 94891119296
Status : Answered
Chosen Option : 3
Q.54 2 wawgers &1 s F TERT F A 1 2 ¥ A e T F TAE AR F0T 140° §,
dr @ TP F IoIAF AT FOT FH AT A
Ans o 1. 160°
X 2 150°
X 3 170°
< 4 140°
Question ID : 9489113773
Option 11D : 94891115091
Option 21D : 94891115090
Option 31D : 94891115092
Option 4 ID : 94891115089
Status : Answered
Chosen Option : 4
Q.55 . 3 . X i i
2.6 6t Fr HT TuT, AET 3R TS 7 B vwr B
Ans
K12 3g AR 6 AT
X223y 5 A 3T 2 e
V3299 7 g Ik 6 e
X423y 6 A 3T 6 e
Question ID : 9489114697
Option 11D : 94891118787
Option 2 ID : 94891118786
Option 31D : 94891118788
Option 4 ID : 94891118785
Status : Answered
Chosen Option : 3




Q.56 Rrfafaa & ¥ #i7 @1 ‘dear AT gfAe (Central Processing Unit) & T e 37

Ane X1 #FrErE (Keyboard)
V 2 AT (Memory)
X 3. AfAeT (Monitor)
/< 4 AT3HE (Mouse)

Question ID : 9489114837
Option 11D : 94891119347
Option 2 1D : 94891119346
Option 31D : 94891119348
Option 4 1D : 94891119345
Status : Answered
Chosen Option: 2
.57 < :
Y e B F Y A =AY @ FiT W oFuF TR
Al i
® X ug B ¥ Tl gERT § gEE F5 39SF g 2
< 2
Fror AE F BIEERy, ARSA TG A A qE A g
v 5 og gfEoh Jert & afEwer ffry 7 92 S g
X 4
IT e AT TRT F AT & e o F 9 S 2
Question ID : 9489114822
Option 11D : 94891119288
Option 2 1D : 94891119287
Option 31D : 94891119285
Option 41D : 94891119286
Status : Answered
Chosen Option : 3




Q.58 mﬁ#mﬁﬁmm#wﬁaﬁﬁwm (biodiversity hot-spots) &?
i it ae Ak o e

X 2. FIARET T 32T T qH ae

X 3

Taferae T¢I 3w HR FawfEar s 3RET &7

X 4. UM Fedaid HHUROY 3R Ficer® Tail aR0T

Question ID : 9489114816
Option 11D : 94891119263
Option 2 1D : 94891119261
Option 31D : 94891119262
Option 4 1D : 94891119264
Status : Answered
Chosen Option: 3
Q59 3t 4 x3 —x24+x+ 1 x—3 § Ffag @ | 9eg A 7F Hfew)
ans K 1104
<2 106
<3105
v 4 103
Question ID : 9489113767
Option 11D : 94891115066
Option 2 ID : 94891115068
Option 31D : 94891115067
Option 4 1D : 94891115065
Status : Not Answered
Chosen Option : --
Q.60
T=e@a st g HifET)
0.6x0.6x06+0.7x07x07 .
06x06—-042+0.7x0.7
Ans X115
V213
<3186
X414
Question ID : 9489113750
Option 11D : 94891114999
Option 2 ID : 94891114997
Option 3 1D : 94891115000
Option 4 1D : 94891114998
Status : Answered
Chosen Option : 2




Q.61 ymufes Fegex Bl off 1 1 X F BT Pdet & e w5 & o W § o= Tt @

WHAIS: T g AT 87
Ans X1 939 (Language)
X 2 IMEsesA (Guidelines)
' 3 9ramA (Programs)

X 4 FATE (Commands)

Question ID : 9489114836
Option 11D : 94891119341
Option 21D : 94891119343
Option 31D : 94891119344
Option 4 ID : 94891119342
Status : Answered
Chosen Option : 3
Q.62 =z or& & o FEa A9 FEw, B 3466 F Fsw W ua e 2, 6, 4 3k 3 & qoiear Rsrsw
G
Ans « 18
<215
<34
K411
Question ID : 9489113753
Option 11D : 94891115010
Option 21D : 94891115012
Option 31D : 94891115009
Option 41D : 94891115011
Status : Answered
Chosen Option : 3
Q63 Among the following, name the software components of a computer?
Ans 1. Memory
« 2. Programs
X 3 CPU
X 4 CMOS
Question ID : 9489114838
Option 11D : 94891119350
Option 2 ID : 94891119349
Option 31D : 94891119351
Option 4 ID : 94891119352
Status : Answered
Chosen Option : 2




Q.64 zm = gger, X #1 HY 5 AF of T sEE A, Y F 3G F weh o W @G Z Fr A O 6

P @8 aY &7 ol Z & A1 30 F77 18 a¥ | &A= & Z 3 P &1 3 & d Fan B

Cd
Ans  of1.7:9
<214 :19
K34:5
K49:7
Question ID : 9489114698
Option 11D : 94891118792
Option 2 1D : 94891118789
Option 31D : 94891118790
Option 4 1D : 94891118791
Status : Not Answered
Chosen Option : --
Q.65 Trafafed & & =i @ aRdw g &1 og 9 gmst (six schools of Indian philosophy) & & ws
e
Ans x
I HATETR
X 2 o
]
v 5 g
PaSEA- -+
Question ID : 9489114808
Option 11D : 94891119229
Option 2 1D : 94891119230
Option 31D : 94891119232
Option 4 ID : 94891119231
Status : Answered
Chosen Option: 2
Q.66 =rr & mew I 20% H FA H E F| T T TS T W AW F O, 70F 5w § eh gy
Fr FET IRT?
Ans o 1. 25%
<2 30%
<3 20%
< 4 35%
Question ID : 9489113758
Option 11D : 94891115030
Option 2 ID : 94891115031
Option 3 ID : 94891115029
Option 4 1D : 94891115032
Status : Answered

Chosen Option :

1




Q.67 s wawR How Fr s A disE & w6 ¢ 5 ¥ Ay diws, dwd ¥ 25 mowH &, & dEe

F INAT 719 FiAT]

Ans 1. 540 m
<2 560 m
<3530 m
v 4 B50 m
Question ID : 9489113765
Option 11D : 94891115058
Option 2 1D : 94891115060
Option 31D : 94891115057
Option 4 1D : 94891115059
Status : Answered
Chosen Option : 4
Q.68 A
X & 35% @ 35% = X & % &l
Ans  X'1.0.1225
v 21225
<3 1.225
/< 4 0.01225
Question ID : 9489113754
Option 11D : 94891115014
Option 2 1D : 94891115016
Option 31D : 94891115015
Option 4 1D : 94891115013
Status : Answered
Chosen Option : 2
Q.69 ¢ 3
3636 H 3 & TAIT AT & TRT AT HITAT|
Ans  of 1. 3030
xX23
< 3 3003
X 4 330
Question ID : 9489113745
Option 11D : 94891114980
Option 2 1D : 94891114977
Option 31D : 94891114979
Option 4 1D : 94891114978
Status : Answered

Chosen Option :

1




Q.70 v fFar 21 & 10 TaY &9 ¥ 3K 30% o7 wEET ¥ IO 31 # Raw Ty w9

Ans XL 9
<27
V3 13
<411

Question ID : 9489113759
Option 11D : 94891115034
Option 2 ID : 94891115033
Option 31D : 94891115035
Option 4 ID : 94891115036
Status : Answered
Chosen Option : 3

71 AR (microchips) FE & T fFw wTg @1 3T R ST 32

Ans X1 SIUfAA (Duralumin)
X 2. ZITEEA (Tungsten)
X 3 gTaIT (Steel)
v« fafa=ter (Silicon)

Question ID : 9489114812
Option 11D : 94891119248
Option 2 ID : 94891119247
Option 31D : 94891119245
Option 4 1D : 94891119246
Status : Answered
Chosen Option : 4




V7?2 SERffET #r g Sifew)

7+ |7+ ’?+m

X 1++28
2

Ans

x 2 1+/30
2

x5 1+ /31
2

v 1129
2

Question ID : 9489113752
Option 11D : 94891115006
Option 2 ID : 94891115008
Option 31D : 94891115007
Option 4 ID : 94891115005
Status : Not Answered
Chosen Option : --

Q.73 e e v WA SH W F 10% TR SO g1 W 2 99 % T 116,000 Hr v @w
T 1 ofE == oHEEr MR W 2T §, & 9ieaar oY 39 fraer ofer (2 #) weg gehe

Ans o 1.19,448.1
/< 2 19,4451
< 3.19,4471
< 4 19,4461

Question ID : 9489113760
Option 11D : 94891115040
Option 2 ID : 94891115037
Option 3 1D : 94891115039
Option 4 1D : 94891115038
Status : Answered
Chosen Option: 1




Q74 =3t & #ia @ REPR aRE F Qe R sfaeTeiat & At ar fmr o #2

Ans

v g FaTE
X 2 3 HaTS
X 3 FMes 92

X 4 I T

Question ID
Option 11D

Option 21D :

Option 3 ID
Option 4 1D

Status :
Chosen Option :

1 9489114805

1 94891119219
94891119217
1 94891119218
1 94891119220
Answered

1

Q75 s w@faud AN Yeed gH @ FiA W fevar and smwfeer & d6fita §2

Ans

X FgroaTtereT $r mafeaar

X 2 gelis TS FT HIST 3= =017 ¢

v i Ffis TEasar

X 4 359 FATATEET % ATl o AT 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489114829
94891119313
94891119315
94891119314
94891119316
Answered

1

U raem ana B F 9 F o @ FiF @ wuw e R

Ans

v

=0 AT o FEis I = F O 9ier S s am

X 2 qEfeR U= 38 A & Fwar 7@ g

X 3 TF AHTA 2 ega 2015 & F fomar T o

X 4 Tg Faer ArHEOT A gF & AT T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489114804
94891119213
94891119215
94891119214
94891119216
Answered

Chosen Option: 3




Q77 Zfr sin6—cos6 =0, 3T 0 < 6 < 90° &, I sinO + cosO F AT gl
as X1 242
v'2 42
1
K3 —
V2
3
K4 —
V2
Question ID : 9489113770
Option 11D : 94891115079
Option 2 1D : 94891115078
Option 31D : 94891115077
Option 4 1D : 94891115080
Status : Answered
Chosen Option : 2
Q.78 zx fwew F1 7w FfAT, = FEfAET Ao F g e (7) F T O 3T FFAT B
LB, MC, 7, OG, PK
Ans X1 NJ
X< 2 ND
v 3 NE
X 4 NF
Question ID : 9489114688
Option 11D : 94891118749
Option 2 ID : 94891118752
Option 3 1D : 94891118750
Option 4 ID : 94891118751
Status : Answered
Chosen Option : 2
Q79 F=fafa & @ &7 o & HIZFT T FET TR (United Nations Security Council) T Ty
fice= i ]
Ans J £
I ST
X 2 FEeAr
X 3. ST
X 4 gEer
Question ID : 9489114835
Option 11D : 94891119339
Option 2 ID : 94891119340
Option 31D : 94891119337
Option 4 ID : 94891119338
Status : Answered

Chosen Option : 1




Q80 it oF T F g ardER A Fl ATEg-FETEaA

Ans X
(R r-rc
X 2 fewelr Wodad
W 3 T
<o fafeer
Question ID : 9489114809
Option 11D : 94891119236
Option 2 ID : 94891119235
Option 31D : 94891119233
Option 4 ID : 94891119234
Status : Answered
Chosen Option : 3
Q.81 i ;
HFeX O 8T 9= #Aga H g B
Ans x
. {SAAT
X 2 AENT
v 2 FAER T Hrenlr
X 4 ﬁ?ﬁ
Question ID : 9489114810
Option 11D : 94891119240
Option 2 ID : 94891119239
Option 31D : 94891119238
Option 4 1D : 94891119237
Status : Answered
Chosen Option: 3
Q82 o5 wu Hew 2850 3N T Few 680 g, aF AiaeT @ty A AT
o (Y
Ans x 1. 359,
< 2 30%
< 3 25%
v 4 20%
Question ID : 9489113755
Option 11D : 94891115020
Option 2 1D : 94891115019
Option 31D : 94891115018
Option 4 1D : 94891115017
Status : Answered
Chosen Option : 4




% ardrg @ F aeoe 368 ¥ Faroa B
e X gAY Eur B wE e

v g & gt

X 5 Tegafd 98 & AT

X 4 TSE AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114828
94891119309
94891119311
94891119310
94891119312
Answered

2

084 (41%2 + 43%) zF T TrEw fasw
ans X186

v 2 84

X3 74

X412

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

1 9489113749

194891114995
1 94891114994
Option 31D :

94891114993

1 94891114996
Status :
Chosen Option :

Not Answered




“wma 45 g 3ﬂ?§ F A.EY. (HCF) 7 RS

3
Ans 1
?‘ﬁ-ﬁ
1
XZ-E
1
Xslﬁ
1
Vi

Question ID : 9489113747
Option 11D : 94891114986
Option 2 1D : 94891114988
Option 31D : 94891114985
Option 4 ID : 94891114987
Status : Answered
Chosen Option : 4

Q.86 = st fwal (Delhi), He$ (Mumbai) HIT =T (Chennai) & =¥ 2000 & 2003 Fe ST (mm ) F
et arer TEAfaf@d w7 3T &1 3 By 77 wea # 3w &)

140
150 110

%0 _ =0
100 | 70- 70- B0 pwEOlM _ WSO
50

50

o
2000 2001 2002 2003

WDEIHI EMUMBAI B CHENNAI

H5 (Mumbai) # freelr affwa @ g8 &2
Ans of1.925 mm

#< 2 90.5 mm

/3. 91.5 mm

< 4 875 mm

Question ID : 9489114689
Option 11D : 94891118755
Option 2 ID : 94891118756
Option 31D : 94891118754
Option 4 1D : 94891118753
Status : Answered
Chosen Option: 1




Q.87 e wgdt fwah (Delhi), Ho$ (Mumbai) 3T S=1$ (Chennai) & @¥ 2000 & 2003 & ST (mm &) H

e aTer FEAfaf@T IF &1 euad &1 A v v e # 3w &)

140
150 110

%0 _ 90

100 7o 70-_B0 mmSOR - QRSO
50,

50

o

2000 2001 2002 2003

EDELHI ®MUMBAI B CHENMNAI

et By av &, Rro o & goe 7 sitee 5 # 3Ry o = F s=man v e 2
v 1375
X2 205
X3 155
X4 255

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489114690

94891118759
94891118760
94891118758
94891118757
Not Answered

Q.88 e el faeal (Delhi), He$ (Mumbai) 3T S5 (Chennai) & @¥ 2000 & 2003 & ST (mm &) #

AT AT REATATRT IE F HeTTA Fy AT BE 7T w2 F 3w &)

140
110

80 90
70~ 80

2000

2001 2002 2003

WDEIHI EMUMBAI B CHENNAI

5w 7% & I=7% (Chennai) # a5t # (Ffe 71 Far F1) Ffaed 3R 3=9987 a1?
< 1. 2000
~ 2. 2001
< 32003
v 4 2002

Ans

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489114691

1 94891118761
1 94891118762
194891118763
1 94891118764
: Not Answered
Chosen Option :




Q.89 = gl feah (Delhi), He$ (Mumbai) 3T S=$ (Chennai) & =¥ 2000 & 2003 & ST (mm &) #
o T Peferfaa 7% o7 sreaas e AT BT 7w wew v seew &)

150 140

2000 2001 2002 2003

WDELHI ®MUMBAI B CHENNAI

57 BFeT 7 Tu7 DTS, F 3599 I97 97 AET F @1y, SHHr #Ea T97 Fr ofr i 27

X 1. 788 (Mumbai), 92.5
X 2 = (Delhi), 72.5

v 2 F==I% (Chennai), 97.5
X 4 #F% (Mumbai), 99.5

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114692

94891118766
94891118765
94891118768
94891118767
Not Answered

Q90 oA H o weEw K, L W, X, M 3T Z ¥ Weds & 915 3l {71 &7 &1 21 L & 919 "%e &1
T FTEI W F O Fror a1 § T FE FETEI M F O o T # oFw § A K ¥ A e
T ZFIH R T H I R A W S FR @ Fiw e

Ans o e
X 2 ore
X 3. T
X 4 drer
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status
Chosen Option :

9489114702
94891118806
94891118808

194891118807
194891118805
: Not Answered




Q.91 hmmmlwllmaﬁﬁwﬁmﬁﬁlwm?%mﬁ?ﬂ?m

Ans

To¥ &, o9 &1 9% WA A ot ¥ e g, 9w &F ffw aw
T @i TT @ UTee AT R E

7 T FiF TE TRy e

hfel:

Ty A T &8 XYZ & @, & XYZ freT & =g & g
forsg:

l. A ¥ T, XYZ & 787 e 3

I A T & XYZ & B o fesr & =y afoemeneh &1

X 1| 3T Il S I FE g
X2garl 3k a g |l g &= gl

V 3 Faer || 9T FLaT g

X 4 haer | UTed LT gl

Question ID : 9489114683
Option 11D : 94891118731
Option 2 ID : 94891118732
Option 31D : 94891118730
Option 4 ID : 94891118729
Status : Answered
Chosen Option : 3
Q.92 Frmfaflw wedl & ofy 35T dew & waTuEa F HTER caareys R e § o sethe w1
# T eeg i HTTEn?
Ans of 1. Sentimentally
& 2. Sentinel
« 3. Sententious
/< 4 Sentence
Question ID : 9489114701
Option 11D : 94891118802
Option 2 1D : 94891118801
Option 31D : 94891118803
Option 4 1D : 94891118804
Status : Answered

Chosen Option :

1




Q.93 far 71v faeredt # W 3@ HEAT T TG4 ST, S Tl At & 9o REd () F w9 oa

Teralt Bl
g 2 4 E 7
HEE
as 1. 30
40
P2
3
V'3 10
15
p S —
2
Question ID : 9489114684
Option 11D : 94891118734
Option 2 1D : 94891118733
Option 31D : 94891118735
Option 4 1D : 94891118736
Status : Not Answered
Chosen Option : --
Q.94 fr 7w Yot F1 AATEF HAAS N AR 3W TS F TS FY A ST WARES (7) F TUH W A
TR E
15 18 40 22 g1 57 45 87 20
| Y Y
Ans X 1. 24
v 2 35
<3 42
X 4 53
Question ID : 9489114703
Option 11D : 94891118810
Option 2 ID : 94891118809
Option 31D : 94891118811
Option 4 1D : 94891118812
Status : Not Answered
Chosen Option : --




Q.95 37 fawew F IO &{ orEd & 7 TEw, 9 ey g § S Seetatle gEanaw ganr e

Ans

gl
(15, 22, 29)

< 1. (44, 67, 17)
V2 (9, 13, 17)
<3 (21, 41, 49)
< 4 (17, 42, 38)

Question ID : 9489114693
Option 11D : 94891118771
Option 21D : 94891118769
Option 31D : 94891118770
Option 4 1D : 94891118772
Status : Answered
Chosen Option : 2
Q96 =7 Rew = gu= HAT, F D=RRT Avh F weT B (7) F TUE 9T 37 Tear ¥
EC, GE, KG, MI, ?
Ans of 1 QK
X2 LF
X 3 Fl
X4 JP
Question ID : 9489114687
Option 11D : 94891118746
Option 2 ID : 94891118745
Option 31D : 94891118748
Option 4 1D : 94891118747
Status : Answered

Chosen Option :

1




Q.97 ﬁcmﬂ;ﬁ}ﬁqﬁmﬁaﬁmﬁﬁqﬁwmﬁ?%mﬁﬁaﬂéwmﬁﬂﬂﬁﬁ
AT A 928 @ B &, 597 F e av Tewst & @ S ovw Teey sust wr afdw ww
e FTT 2 2

U

1.5 7onw, 79 §

2. 7l AT, e E

3. %1% o, & 6
foremd

1. 799, 9 ¢

2.F BT, SO A gl

e X1 Faer s 2 aTee e B
K 2 Faer TeFT 1 9o F4T 2
X3 qgar Ty 13k 7 & sy 2 g sar 2
v o ey 1 3t Ty 2 g 9o Fa g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114675
94891118698
94891118697
94891118700
94891118699
Answered

4

Q98 CEaRAfRT T T TE T F o0 e & et 7 H9E F age gem?
15-3+40+5x 30 =23
Ans ?(1~+3-ﬂ'{+
R e
X5 s 3 -
X4 e 3

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D
Status:

Chosen Option :

1 9489114685

194891118738
194891118739
194891118740
1 94891118737

Answered
2




ms  f 1 T
X 2 seatetr
X 3 For
X o gy

Q.99 = wfeawr wEhae F o2 §, 3 ¥ I O Re F o § AR v 3Eena §1 T 1 omEa HX

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114694
94891118775
94891118773
94891118774
94891118776
Answered

1

o 3 2 g Tw R A 5
Ans X1 F
oA
X3 E
X4 B

Q100 = == A B, C. D, ERF, twaimaT Wag A in F o T s @ F s w7 &
EHI D ATBFR EH AT ABF IR I AT A WL B ENMNFFTHEDF

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 9489114699
194891118795
194891118796
194891118794
194891118793
: Answered
Chosen Option :

2
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